poids (en kg) poids (en kg) poids (en kg) poids (en kg) poids (en kg)
47

poids (en kg)

poids (en kg)

47

Poids total ruche 1

JJ0=28/06
0 8 16 26 36 46

Poids total ruche 8

67 87

JJ0=28/06
0 8 16 26 36 46

Poids total ruche 15

27

87

47 67

JJ0=28/06
0 8 16 26 36 46

Poids total ruche 22

27

67 87

47

JJ0=28/06
0O 8 16 26 36 46

Poids total ruche 24

27

87

47 67

oot eotetreseteey
JJ0=28/06

0O 8 16 26 36 46
Poids total ruche 26

27

87

67

~
< ’?w""""”’
1 F30=28/06

0 8 16 26 36 46
Poids total ruche 28

87

67

JJ0=28/06
0 8 16 26 36 46

27

poids (en kg)

poids (en kg)

poids (en kg) poids (en kg) poids (en kg) poids (en kg)
27 47 47

poids (en kg)

47

Poids total ruche 2

J0=28/06

0O 8 16 26 36 46
Poids total ruche 9

67 87

0=28/06

0O 8 16 26 36 46
Poids total ruche 16

27

87

47 67

0=28/06

0O 8 16 26 36 46
Poids total ruche 23

27

67 87

47

JJ0=28/06
0O 8 16 26 36 46

Poids total ruche 25

27

87

47 67

JJ0=28/06
0 8 16 26 36 46

Poids total ruche 27

27

87

67

JJ0=28/06
0O 8 16 26 36 46

Poids total ruche 29

87

67

27

JJ0=28/06
0 8 16 26 36 46

poids (en kg) poids (en kg)

poids (en kg)

gain de poids (en kg)

Poids total ruche 3

Poids total ruche 4

Poids total ruche 5

Poids total ruche 6

Poids total ruche 7

5 25 25 25 25
c C c [y
~ 9~ 9~ 9L~ D~
[{e) o © © [{e]
[%2] [%2] ) )
5 3 5 3 5 3 5 3 5
o o o o w/""m
5, *%30=28/06 = JJ0=28/06 ~+930=28/06 5= JJ0=28/06 N =28/06
0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46
Poids total ruche 10 Poids total ruche 11 Poids total ruche 12 Poids total ruche 13 Poids total ruche 14
5 25 25 25 25
c c C [
~ 9 ~ 9~ 9~ 9~
o o © © ©
[%2] [%2] ) )
< //4.,-""" S 5 S~ g + w’w S~
3%JJ0=28/06 N JJ0=28/06 N JJ0=28/06 N 0=28/06 7 JJ0=28/06
0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46
Poids total ruche 17 Poids total ruche 18 Poids total ruche 19 Poids total ruche 20 Poids total ruche 21
I\E 8 N~ a N~ ’S N~ 8 N~
00 ] X 00 X X X
- C C [ [
~] D~ Q@ ~ Q@ ~ Q9 ~
© ] © © © ©
- [%2) [%2] [%2] [2]
':r: % - f" % - //,/""< % ; Nf..m % ;
. o o o o
= JJ0=28/06 = JJ0=28/06 N JJ0=28/06 N2 JJ0=28/06 = JJ0=28/06
0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46 0O 8 16 26 36 46
Cnmparaﬂf durucher Sault—J
8_
o_|
<
o_l
N
o -

40

50



